Space for Rough Work /%% %1 & fog oig

SR e Wl gt § et Ui ok fgeha ufy, oden Wik oX e s Bl @ qd woemlt S
THE B < o S B S, e i R R B e T ) Qe N SR T
Wl w7 g o o o, ol oy B qor uRy @ Be oA 9 Iﬁsmvmﬁﬁcgéiﬁmm
el BT W | adenlt R uRy B o wer @ S|

107 - & Page 16 of 16

=C2C2C2C

e YRa®1/ QUESTION BOOKLET

W H E‘S@T P AT/ Number of Pages in Booklet : 16

‘gﬁ?ﬁﬂ T YT B AT/ Number of Questions in Booklet : 112

31919 / Duration : 2.00 ©i¢ / Hours quifes / Maximum Marks : 70

Question Booklet Number

INSTRUCTIONS

1. Please correctly: fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the start: of the examination, before attempting the
question ‘paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that:

+ - The serial numbers of test booklet and O.M.R. answer sheet
are same. ' .
= All pages of test booklet and O.M.R. answer sheet are

properly printed. All questions from S. No. 1 to last S. No. 112
are printed and pages from S. No. 1 to last S. No. 16 are there
in the question booklet.

in. case.  of = any . discrepancy/defect: the candidate = should

immediately report the matter 1o the invigilator for replacement of

test booklet and O.M.R answer sheet. No claim/objection in this

regard will be entertained after five minutes of start of examination.

Candidate will be liable for it:

3. Answer all questions.

4. . All questions carry equal marks. ‘

5. Only one answer is o be given for each qﬁesﬁon.

6. lf more than one answers are marked, it would be treated as

wrong answer.

There is no Negative marking. .

Each question has four alternative responses marked serially

as (A), (B), (C}, (D). Candidate has to darken only one circle

or bubble indicating the correct answer on the Answer Sheet

using BLUE BALL POINT PEN,

@

8. Use of Mobile Phone/ Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
{f any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule. *

10, I there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard. \\

Warning : it a candidate is found copying or if any unaut\\orized

material is found in histher possession, F.LR. would be lodged

against him/her in the Police Station and he/she would be fiable to
be prosecuted under Section 3 of the State Prevention of Unfair

Means Act, 1892 and Board Regulations. Board may also debar

him/her permanently from all future examinations of the Board.
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1.

Who among the following joined the Battle of
Haldighati on behalf of Maharana Pratap?

(A) Mahmood Lodi (B) Hasan Khan Mewati
(C) Hakim Khan Sur (D) Medini Rai

Fefeiea o & @19 &l a1l & gg § "AERn

- YT B TRG W g W A ga?

(B) g8+ Wt Jarh
(D) Afe= v

(A) mEwE @)

(C) g |l IR
Match the following —
Tourist Place
(1) Soniji Ki Nasiyan
(2) Chaurasi Khambon ki Chhatri

(3) Badabag

(4) Sunehri Kothi

Place (City)

(i) Tonk

(it) Jaisalmer

(ii1) Ajmer

(iv) Bundi
The correct match is -

(A) (1)-iii, (2)-iv, (3)-i, (4)-ii
(B) (1)-iii, (2)-iv, (3)-ii, (4)-i
(C) (1)1, (2)-ii, (3)-iii, (4)-iv
(D) (1)-ii, (2)-i, (B3)-iv, (4)-iii

(A) (1)-iii, (2)-iv, (3)-, (4)-i
(B) (1)-iii, (2)-iv, (3)-ii, (4)-i
(©) (1), (2)-ii, (3)-ii, (4)-iv
(D) (1)-i, (2)-, (3)-iv, (4)-iii

Which one of the following pair (Fort — Ruler at
the time of Alauddin Khilji’s invasion) is not
matched correctly?

(A) Ranthambore — Hammir Dev

(B} Chittor — Rana Ratan Singh

(C) Siwana — Maldev

(D) Jalore - Kanhad Dev

Fefaled & 4 @9 91 g (G ~ srste
RSl & JAMHAY B T D) qﬁ%ﬁﬁ’s‘i%‘?
(A) IoRMIR — gFIR 9 '

(B) fairs — wom <aw R oy
(C) Ryarom — wrerea :
(D) TR — TSR

Which of the following festival comes last in a

calender year (As per Vikram Samvat)?

(A) Holi (B) Gangaur

(C) Raksha Bandhan (D) Krishna
Janmashtami

FrfoRed § & 31 a1 /R, TF dolvsy 9y

(faspa g & oER) § w9 98 7 ofrar 87

(M) Breft (B) ORI '

(C) efrare (D) w7 SrHTEHT

Who among the following is not in the selection

committee of the chairman and members of the

Rajasthan State Human Rights Commission?

(A) Chief Minister (B) Home Minister

(C) Leader of the (D) Governor
opposition

JGIRIM W HEA@R MART & 31ede Ud
qewl &1 gI9 |iEfy § ﬁﬁ%{f@ﬁ 9 B TE
BIT 87

(A) gz w4 (B) T8 w3

(C) fauer 7 =¥ (D) TrowaTel

The famous folk dramatist Nanuram belonged to -
(A) Shekhawati Khayal (B) Jaipuri Khayal |

(C) Turra Khayal (D) Kuchamani Khayal

o deeR AFRM fha wre @ wdEd

R

(A) TrErErd) v (B) STgqRY TS
(€) R = (D) gETT =T
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Who wrote the Book ‘Rao Jaitsi Ro Chhand’? 10. “Mando Ki Pal’ is famous for the production of
(A) Beethu Suja (B) Karnidan which mineral?
(C) Keshavdas . (D) Veerbhan (A) Feldspar (B) Fluorite
C D i
T ST A B TR B 7T e Y (€) Soap stone (B) Pyrite
(A) 913 ot (B) aRofe e :
S e e @l & IarE 8 uiig
(C) BeaTe (D) ST . . g
Which among the following pair (Folk Deity — '
Mother) is not correctly matched? (A) BERIIR (B) FeiRige
(A) Tejaji - Rampyari (B) Ramdevji - Mainade (C) N7 g (D) ursRTEE
(C) Pabuji - Kamlade (D) Gogaji - Bachal 11, To whom, Munshi Devi Prasad has given the name
9 4 . ’7(7

frafafed § @ o9 91 g (e Jaar — W) The Abul Faza‘l of Rajasthan”? .
Afera =i 27 (A) Muhnot Nainsi (B) Suryamall Mishran
(A) T — e (B) vHegs — doe (C) Kanhaiyalal Sethia (D) Vijaydan Detha
C) UrSl — ®Here (D) M — B _ \ .
( . et <dioraTg 7 fRasT IISRRIT BT g BuTel
Match the following - 2 v & &7

Sect ' ' ‘
(1) Bishnoi Sect (A) Feoia =oredl (B) wwew fAsror
(2) Jasnathi Sect (C) earerer wfear (D) fsraa e
(3) Dadu Panthi Sect 12. Mixed deciduous forests are found in which part
(4) Ramsnehi Sect  Raiasthan?

Main Seat (Place) of Rajasthan” o .
(i) Katariyasar (A) Udaipur-Chittorgarh-Sirohi-Bundi
(i) Naraina (B) Jodhpur-Jaisalmer-Bikaner-Barmer
(iii) Sinhathal (C) Dungarpur-Banswara-Pratapgarh-Jhalawar

garp
(iv) Mukam . (D) Alwar-Jaipur-Churu-Jhunjhunu
Correct match is -
(B (1)-4, ()i, ()i, (4)-1v SR & f ArT | ﬁ% qaISre el 9 R
(B) (1)-i1, (2)-i, (3)-1v, (4)-iii M. %’9
(C) (1)-iv, (2)-, (3)-ii, (4)-iii .
Vg A (A) Wg?~f%4?ﬁ@13—ﬁ?‘r€r~€gcﬁ
(D) (D-iii, (2)-1v, (3)-i, (4)-ii @)
gHfe B — (C) SRR AT TE—STTaTS
( )m (D) 3TeTeR—STIR—o— L,
1) fae e wwrEn ' |
) 13‘ . . .

() SR W , In'whllch galt)mt;n‘% style there is abundance of
(3) TTeuel TR animals and birds?
(4) TFEE FRIERT & (A) Nathdwara painting style

TG e (1) : (B) Bundi painting style
(i) HARAR (C) Bikaner painting style
(ii) ﬁ’” (D) Jaipur painting style
(iii) RRigeret
(iv) g %ﬂﬁa@?ﬁﬁm—mﬁa@mﬁﬁ%‘?
T e & | () Trergrr el
(A) (1), (2)-ii, (3)-iii, (4)-iv (B) E}fiﬂ Brrdrey
(B) (-, (-4, G)-dv, (4)-i (©) Sarr REd
(C) (D)-iv, (2)-1, (3)-ii, (4)-iii D)
(D) (1)-ii, (2)-iv, (3)-1, (4)-ii (D) TR EENE]
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14.

15.

16.

17.

18.

Districts of Rajasthan benefited from Narmada
Canal Project are -

(A) Hanumangarh - Ganganagar

(B) Churu - Jhunjhunu

(€) Jodhpur - Nagaur

(D) Jalore - Barmer

FHET TR trﬁzﬁ?ﬂ?n W e e @ Rvel

3

(R) BFHMTE — T

®) 75 - g7

(C) SEgR — MR

(D) TAR — TR

Which river of Rajasthan is called Rundit Sarita?

(A) Ghaggar (B) Banganga

(C) Banas (D) Ruparel

;ra'\f@m 1 sfea aRar &9 7<) Eﬁ‘r CEICIGI
?

(A) R (B) qromiy

(C) e (D) wURS

Folk theatre form ‘Rammat’ belongs to the region

of -

(A) Bharatpur

(C) Bikaner

AP ey w T R &3 | Halta 87

(A) ¥WRAYR (B) Harg

(C) frHrR (D) SeqR 3R el
Dry farming is practised in which part of
Rajasthan?

(A) Eastern part

(C) South-eastern part

(B} Mewar .
(D) Dholpur and Karauli

(B) Southern part
(D) Western part

Wﬂ%ﬁmﬂmﬁgjﬁﬁé’cﬂmﬁ%‘?
W g (B) zRrol arT
(©) ZfRyor-gdf wrr & (D) uf¥ed Wi A

Which one of the following pair (Musical
Instrument — Type) is not matched correctly?

(A) Bhapang — Tata (B) Singi — Sushir

{(C) Tasha — Avanaddha (D) Nad - Ghana

frafoRen & @ 99 g @ERE - YIR)

gfer e 87 |
(A) 9O — T (B) Rl — g
(C) arem — g D) 75 — °+

19. Who among the following Saints did not use

Mewati dialects in his/her writings?
(A) Laldas (B) Charandas
i & (C) Sundardas (D) Sahajo Bai

wf 2

- a‘rﬁm BT RIT Y far? 4
P () drer (B) =RV
= (0) grevar (D) TEiaTE

20. Who among the following were associated with

» Hurda Conference against Maratha intervention?
. Maharana Jagat Singh IT -
. Sawai Jai Singh

o ,,,: c. Mahardja Jaswant Singh I

- d. Maharaja Abhay Singh
i, - Choose correct answer -
(A) abcd
(€) ab,d

e,

B

?:@ﬁwﬁr@ﬁﬁﬁﬁﬂwwa%m

(B) ab,c
(D) be,d

S gt wHe ¥ S 97
T g, ERIOT W 98 10
L b, waé o Rig E :

e, gERIST oedd g 11
d. HERTST My g

ig,ﬁwaﬁ— ‘ »
f(f} (A) ade (B) a,b,C .
él §(C)abd (D) by, d

2%*“ Which one of the following pair (Name of RTDC

. Hotel — Place) is not correctly matched?
~ (A) Kajri — Udaipur

(B) Moomal — Jaisalmer

(C) Khadim - Ajmer

(D) Dhola-Maru - Jodhpur

S

fr=fafad # @ e 9 EROIH. & gied |

T AW — IF) gAfera el 87

(A) S — TEAPR
(B) el — SR
(€) @fe™ — SRR

(D) FA—E — SR |
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st

Any amount becomes ¥ 660 in 5 years and ¥ 776

22. 26. A’s and B’s salary is in the ratio 3:5. C’s and B's
in 8 years by simple interest. Rate of interest per salary is in the ratio 4:6. If their total income is
annum is equal to - T 6800, what is the salary of C?

B 620 B) 6% (R) Z2500 (B) 2000
(C) 83% (©) 85% (C) T 1800 (B) T 2300
BIg o TR T A 59 F 6603 A 899 A AR B &1 909 3:5 & U ¥ 81 C 3R B
776 % B ST 8 | 9% @ &R WER 8 — , - BT IGT 4:6 B U H 8| AT I FA I
(A) 6§% (B) 61% 6800 ¥ &, o1 C &7 I foar &2
© alo (D) o2¢ (A) 2500% (B) 2000%
" 8X ° H8 " o ot = (©) 1800% (0) 23002
- Mr. as some money. He gave 40% o S RyT —
amount to his son, 60% of rest to his daughter dnd 2. & m.aﬂ ikl .
rest amount to his wife. If his wife got ¥ 192 Fesé (A) & 7o TSl & HRYT faErT 7
than his daughter, then how much amount was Mr. (B) ol 9l U F Tarsar B §1
X having? (C) <o7 & SR T |
ié; ;%288 Eg; : iggg , (D) ga Hagjiﬁ El GT\!:??I JRERT 9T aTE § |
28. felw v @1 gfe 9 orgfaT g uwenfig —
WX%WWW%‘WWWW (A)w_.g]:ﬁq& (B)aéfa——aﬁ&a
40% ST G B, AT BT 60% T T B R
(€) RR=T—T7R (D) erer-uier
A9 o o Ul Y Q far| Al s vl m) 29 : o ot o
TR ¥ 1923 F9 U g, aﬁ%ﬁrrraxa%gqu - P seeeell 91 ST W WL e
gl foaar gF o BTG — .
A B ~ (@7) @Yy, WERR, Netd () gfg W= =
(A) 20003 (B) 16003 3 _
(C) 1400% (D) 12002 g% Fraa, a?‘ Gl gﬁ“ m’ ) Sf.)) a7 Wﬂgﬁ

24. In a team there are 16 players, whose average age R, I m IO %
is decreased by 6 months when one player ag“@é (@) o, w8 g, (iv) fowrt wfer
28 yezllrs is 'replaced by a new player. The ag ARG Td
new player is - (A) (@1)-(ib), (@)-(iii), (8)-(1), (&)-(1v)

(0 o years o) Yo ® (@-(iiD), (@)-Gi), [)-(iv), (€)-0)
22.6 years 22; years (©) (31)-(ii), (@)-(iiD), ([@)-Gv), [@)-G) .
T W ¥ 16 Rearl €, e a1y i (D) (@0)-(0), (@)-(ib), (|)-(v), (&)-(iD)
Te S & o9 v 28 9ty Raersy &1 g Rgendy | 30 wmﬁmqa‘rﬁﬁ%awmzﬁwaﬁﬂﬁﬂ
< 9ol fear Siwar 8 (| Y Raerst & ey 8 — fawen gy —
(A) 209§ (B) 2‘2aﬁ | (A) wemwg — 37 @
(©) 22.6 7 ) 222 A (B) el — qgdifR WA
25.  An article is sold at the profit of 20%. If it wo&lé (C) orege™ — AT FA
have been sold at the loss of 20%, then selling (D) TRl — HHIRY TEE
. price would be T 100 less. Cost price of the artfgi;e 3. frg RNow @& w sz el ouant @ At
is equal to - f‘”’ T
(A) 3250 (B) T300 A) Raw (@) ‘
(€) Z200 (D) T 400 zc; T ) e T
TP TR 20% AR W 9T Sl 81 A T 20% |, wﬁ;@wzﬁmﬁﬁwﬁﬁ SiPo —
B | S oI, o Ry e 100 ¥ ®W gar) | ERLE
oG 3T B GU RR & — (8 ot — R, T, oY
(A) 250% (8) 3003 (B) et — e, fovow, i
(©) 2003 (D) 400% (©) o1 — R, B, A1
_ (D) Biam — Fwe, fgF, afergs
107" % Page 5 of 16



33.

34,

35.

36.

(A) i

=1 4 9 59 v A 9w 9 9 qFf &
(B) TR

(C) SrersHT (D) oA

“The corrected file is put up for signature.’
SH G BT G B8 HURRT | —

(A) enfer 9fteT swaRR @ fog wxga 2
(B) wnfore U7t EwIER & forg ey 2

. (C) wifr WSt swaeR & fog deqa 8

(D) =fere ufer ewemer & forg et 2
ﬁwfmﬁmfﬁ—cﬁwﬁ Asrare’ ugeR 81 gen
oL,

(&) ¥ Sir7er € & a8 R ger |

(B) g Rrerep a1Mq & 79 = el @ |

(©) 98 9R &9 9 fenery w81 4|

(D) ¥g 9€l Isd! g R T TR o | -

Match the sentences given in column (A) (with

blank space) with the determiners listed in column .

(B) so as to complete the sentences with correct
options -

Column (A) (Sentences)
(i) How ......... water is there in the bottle?

(i) How .............. boys are there in the class?

37.

(iii) Please give me ................ water.
(iviHehas ............ patience with others,
Column (B) (Determiners)

(a) some »

(b) much ' s
(c) little

(d) many

(A) (i)-(c), (i)~(d), (iii)-(b), (iv)- (a) :

(B) (D)-(d), (ii)-(c), (iii)~(a), (iv)-(b)

(©) (i)-(b), (iD)~(d), (iii)-(a), (iv)-(c)

(D) (i)-(b), (iD)-(c), (iii)-(a), (iv)-(d)

Identify the sentence from the given options which
is an active voice sentence - -

(A) The Olympics were started by the Roman

Emperor

- (B) The festival takes place once in every ten

years.
(C) The festival was held in honour of Zeus.

- (D) The windows don’t get cleaned very often.

38.  Choose the correct option -

He said, “My wife leaves for Mumbai tomorrow”.

(Change into indirect speech)

(A) He said that his wife would leave for Mumbai
the next day.

(B) He said that my wife leaves for Mumbai

 tomorrow. , ‘

(C) He said that his wife leaves for Mumbai the

day after tomorrow. ‘

(D) He said that his wife would have left for v

Mumbai the next day.

39. Match the sentences with blank spaces in column

~ (A) with the prepositions listed in column (B) so
as to frame correct sentences :
Column (A) (Sentences)
(i) 1shall return ................ an hour.
(i1) The crops were destroyed ............... heavy
rains.
* (iii) Death is preferable .............d isgrace.
(iv) You can see the details .............. the computer
screen. -
Column (B) (Prepositions)
(a)to
(b) on
(¢)in
- (d) by
(A) (1)-c, (i1)-d, (iii)-a, (iv)-b
(B) (i)-c, (ii)-a, (iii)-d, (iv)-b
(C) (i)-b, (ii)-d, (iii)-a, (iv)-c
(D) (i)-d, (ii)-c, (iii)-a, (iv)-b

40.  Choose the correct option :

Tell her to wait here. (Change into passive \/oicc)
(A) She must be told that wait here.

(B) Let her to wait here.

(C) Let her be told to wait there.

(D) Let her be told to wait here.

41. A maintenance check list for all types of fire

extinguishers is listed in accordance with -
(A) 1.5.2190-1990 (B) LS. 2190-1992
(C) 1.S. 2290-1990 (D) LS. 2290-1992

E G D SFTER AR Y Y 2
(A) 3E.T9. 2190-1990 (B) &y ws. 2190-1992
(C) amg.qd. 2290-1990 (D) a17E v, 2290-1992
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42. Two hoses are joined together or to an apparatus 47. What is FMB in foam systems?
by fittings known as ............... (A) Foam Managing Brgnches
(A) Branches (B) Adapters . (B) Foam Managing Bndge
(€} Couplings (D) Breechings (C) Foam Making Bridge
N (D) Foam Making Branches «
fhal SUHRIT .
, ;}r;;a%a%nw A a‘rs%;nw 1 SR B gomel ¥ YB.yAdl (FMB) 9T 87
Qe (A) T R T
' : (B) v AR 1S
(A) Fio (B) s (©) o 3R i
(C) wufelrg (B} Ay (D) By AT FE
43. What is starving in extinguishing of fire? - o )
ing i ' 48. Where can dry powder fire extinguishers not used?
(A) Adding fuel to fire &) il
(B) Using water to cool fire o C}ass— res Josed soaces
(C) Removing fuel element from fire . (B) F}I‘GS that are in enclosed spa ‘
i ' (C) Fires that involves electrical equipments
(D) Preventing oxygen supply to fire e er 1000V
ST g # e @ w7 (D) All of the above
(A) it et ISR AR ST T R o
: i Fal
(B) el 1 SR ARD ST FT ST Bl Eg? _
(C) aifts A S T BT 7T HRAT A) o
(D) 1P ¥ SifeRfie & YT ®1 e (B) mﬁ”[m R
44. What is the percentage of fires in the workplace (©) s Rt e ST Tl T
caused by human error? 1000V & o &
(A) 5% - (B) 20% (b) B s
(C) 85% (D) 50% , ST |
. f . 2 49. Which step of 5s concept refers’ to
A e B PR SERIEY “Standardization”?
faer 22 (A) Step-I (B) Step-II
(A) 5% (B) 20% (C) Step-III (D) Step-IV
(©) 85% ) 50% ST units 5s Heeqdr § frm # | @M W WO
45. The value of the Boltzmann constant in S units is- N e 32
(A) 1.38x 10 JK (B) 138 x10?°JK .(A@) @;W'sé’mg“' g () _—
(€) 1.38x108%JK' (D) 1.38x 10> JK! e
' (€) garg =R (D) Tge =R
TS, A H AreasHIT FHdie o1 A 8 - 50. Code green stands for -
(A) 138 x 10" JK (8) 1.38x 10 JK (A) Fire (B) Intruder
© 138x 10%JK' (D) 1.38x 10 JK! (C) Evacuation (D) Smoke
46. Which are class A, B and C fires? Frs T BT IS & —
(A) Metal, cooking oil, dry chemical (A) s (B) i
(B) Metal, electrical eq.tlip'rnents, cqoking oil © £ (D) %gsﬁ
(C) Trash, flammable liquids. electrical 5. A is a mechanical device which
equipments ' | transfers energy to a fluid.
(D). Electrical equipments, metal, dry chemica (A) Hydrant (B) Pump
Fomd T, & AR W) T B A %V? (C) Venturi (D} Jack Hammer
(A) a1, @I UBM & O, R | L S— T Gifs YRR & TN FHol Bl
(B) wrrg], farerdi Suehvor, WY U™ T el aqﬁm_rﬁam%ﬂ _
(C) eI, SaeTeiel avel Uar, fageia SR (A) TRST (B) g
(D) R SUSRYI, €, T AR (€) dgQ (D) I TR
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52. Which type of rq;sé;mguls her has a hard horn on the
~endofa fiex*b{;g}iose or metal arm?
(A} APW (. km?&ssumed Water)
(8) CO» (LdfbM:Odee)
€} ARC (Drymhetmcal)
(D) H:0 (Waterj)j

f&q yoR @ sifemme 3 ordiel B I 91 @
SO 3 of 3 TF FOR B v 27
A) APW (Eﬂg SqrEYE M)
(B CO, gcmw SIECICRIES)
(€) ABC (gwf zare)
(B) H,0 (W}md
53.  According to l*lgtmnal Building Code of India,
industrial @mldmgs are categorized
under........... bf-occupancy.
{(A) GrowpE %;f (B} Group G
{€) Group F / (D) Group H

W’H?T@THWTWE‘\?W CIBIRED

i @I CiUcduhN! B & ia oofeg

ﬁ‘éﬂ R

(A) 97z €. o

€) e . ot

54. LPGis heavief‘ffian air -
{A) Correct fwv

- (B) w¥g il
(D) W Ta.

{B) Not correct

(C) Equal = - (D) None of the above

TS, gaT 9 W g — :

(A) @& (B) wel &

(C) TR ) (D) IRIKT H | DI
55.  The best way @f@ontrel a fire in a pan on a stove

isto- L

(A} Use your gwg:&r{len hose to spray it out.

(B} Fan it w:th ¥ towel until it goes out.

(C) Carry the fl’ammg pan to the nearest trash bin.
(D) Smother it wnh a lid that fits the pan.

U% YA W 0P 0 H o B R e @1

[ D] aOeT & —
(A) 39 g B faw o e B &1 T
B |

(B) 39 diferd 91 9 T BT B S <6 T8 g
RSN

(€) waifii 39 o) Fread Hee™ ¥ o A |

(©) 47 % fe 89 a1el GaFT W 54 g |

56.

57.

58.

59.

Smoke detector may not be more than
TP feet from any point of ceiling.

(A) 15 (8) 21

{C} 30 (D) 900 square feet
e fSeweR va @ A N g T o
Bl | Sa7ET g8 W T8 8 ARy |

(A) 15 ) (8 21

{©) 30 (D) 900 a7 wie

Which system is installed to extinguish fire of
liquids having flash point below 65°C?

(A) FWSS

(B) HVWS

{€) MVWS

(D) None of the above

65°C ¥ ¥ Tele Uige Il avdl ugrRIl @ ST
T & forg DI A1 RIRTH TR 7 87?

(A) Tp. Sy, TH. TH. (FWSS)

(B) Ta. ¢ T=Y, TH. (HVWS)

(€) v1. 91 T=g, 4. (MVWS)

(D) IWed ¥ | BIg 7SI

White band present on the cylinder of respiratory
system indicates which gas?

(A) CO, (B) N2

() CNG D) O,

mqaaﬁmwﬁagmt@mﬁv
&1 g 8?

() P SrESifawTES  (B) RIS

(€) TS, D) &ﬂ’iﬂﬁﬁﬁ

Which component is included in the Manually
Operated  Electronic  Fire  Alarm  System
(MOEFA)?

- (A) Manual call station

(B) Talk-back system -,
(C) Public address system
(D) All of the above ‘

g W G B AT Solaeiie BIER ST
fieq (MOEFA) # 391 oes e 87

(A) FrcT DI I

(B) Sfr—d% RieH

{C) T FIRF aEH

(D) Sert i

61. The method of propagation of fire are -

63. In wet-riser system, the words “Fire Service Inlet”

60.  Universal Extinguisher is -

(A) Wire type {B) Foam Type

(C) DCP (B} COztype
gfade TEIciaeR § — Loy
(A) qrIR TIRY (B) tﬁm agq‘

cTed ;fgfif

(B} Convection b
(D) All of the above

{A) Conduction
{C} Radiation

AT B IR B T B —
(A) FHrsaRM (B) wdge=
(€) I¥uer (D) o e

62. The head room clearance for all pump h(ms;z

should be mintmum ..............

@ Im 8) 1.5m
(€} 1.75m (D) 2.75m e
W U RN @ T 8 W qelaNs R
.............. BT R |

Ay 14 (B) 154

€y 1759 L)Y 2.754).

WLy

should be written in letters at least.............. mf in
height and...ccerenen. mm in  width , m
fluorescent fire red colour. o
(A) 95,20 (B) 90,20 o

€) 75,12 (D) 80,15

ﬁ@é?@mﬁm@@atﬁiw%@wﬁ%@‘

ST TREY |
(A} 95,20 (8) 90,20

64. How many workers are estimated to die in fire

65. What is the colour indication for “Rescue” as per
Tally Board?
(A) Blue
(B) White with light green bar
(C) Light blue with white bar
(D) Blue with red bar

7 82 |
() =frerm 47
(B) e &) UE B WRI B
(C) 9Hg U & WRT BeHT Al T
(D) ot gY@ Wy el ¥

6. Replace power strip electrical cords, when -
(A) You have used every outlet on them.
(B) They show any sign of discoloration.
(C) They have been on the floor for more than a

month.

(D) You change your smoke alarm battery.

iR Rgu fea ari &1 95¢l, o9 —

(A) MO S R &R ITSTAT BT ST oy |

(B) 3 wiomfdvor 51 B waa feam g

(©) 7 tF 7€M W AafE T W BY R E

(D) 3IT9 39 TAE M FI 9T FEeAT T
67. How many ways should you know to get out of

your house in case of fire?

(A) One safe way (B) Five ways

(C) Atleast two ways  (P) Mixed ways -

AT o @ Rufy F§ snudT oW TR ¥ amR
Feem @ e adie gar 89 anfee?

() v gl ad@r  (B) dfg a0

€©) &9 ¥ o9 3 e (D) b We

68. BCF Extinguisher is used to extinguish which type

107 - @
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related incidents per year? of fire? ,,
{A) 1000 (B) 200 (A) Class A {B) Class B
{C) 400 D} 50 (€} Class C (D) All of the above
qﬁra&aﬂﬂﬁﬁa@ﬁa—m@ﬁﬁmﬁmﬁzg é’wﬁ.wawﬁwmﬁﬁmﬁ@aﬁﬂﬁmaﬁ
R T ATAH 87 : T WS 87
(A) 1000 (B) 200 (A) T A (B) 719 B
(€) 400 (B) 50 (C) 7 C (D) SR i
10? = % Page 9 of 16



69. To achieve the amperage necessary for fire alarm
backup batteries should have to be wired in -

(A) Series

(B) Parallel

(C) Both series and parallel

(D) Alternative series and parallel

BRR I # faga v 3 forg a‘mm Eraal
ST ST ® —
" (A) sl H
(B) HHAMITR %A H
(€) Bt sroft 9 9 FAHIR A |
(D) sreewafed oot g FAFIaR H49 A
70.  Spontaneous combustion can occur, when -
(A) grease is used for cooking
(B) portable heaters tip over onto a carpet
(C) candles are used without a glass cover
(D) oil soaked rags are left clumped together or left
without soaking in water

WA g8 79 81 Heball €, 519 —

(A) @ e ® Torg W &1 SuAnT R Sian
SR

(B) uIdget €1eY UP FHlelF W) Folc ST 8

(C) ARyl BT TUANT Hig P AR B AT

far i 8

D) g& ¥ A g aﬁmﬁﬁwmm
ﬁcwﬁ%mqﬁﬁwmmﬁvm
g

71. 'Which of the following apparatus’ voltage is tested
after every year?
(A) Fireman Beater
(C) Fireman Axe

(B) Fireman Hook
(D) Electric hook

1 & 9 5w SyeRT &7 dieesl B UG T B
EERACA G IAVIGIE
(A) BT dice (B) BRRAA §F
(€) BRIRAT T (D) safe® &P
72. Once in how many years the refilling shoud be
done in water type fire extinguisher?
(A) 2 years (B) 5 years
(C) 3 years (D) 4 years

fhaw arel ¥ ve IR diey TEY BIR Taie R
¥ AfBfefT B afee?
(A) 2 a9
€ 3a9

(B) 5%
(D) 439

73.

74.

75.

What is the correct sequence of operation to be
performed while using fire extinguisher?

(A) Pull, Aim, Squeeze, Sweep

(B) Pull, Aim, Sweep, Squeeze

(C) Push, Arrange, Squeeze, Sweep

(D) Push, Arrange, Sweep, Sequence

JRTAMF FT ST I WG fFY TH AT

FATE BT Hel A T 87

(A) L=, e e, SarET, g

(B) e, eI ST, AT, G

(C) yberT, FaReIT AT, ST, G

(D) gave1, SgReI BT, YA, SHH

The term “means of escape” can be best described

as -

(A) the shortest route out of a building during a fire

(B) the longest route out of a building during a fire

(C) the quickest route out of a building during a
fire

(D) the safest route out of a building during a fire

“A=g 3P TBY UE B 59 UHR afvid

ST T & —

(A) 3T T B SRE SARG @r e e &1
T BIET Il

(B) 7T o9 @ ERM §HRA ¥ R Mwem &
I T AT

(C) I &1 B TR THRT W g8} (der &
Y IS IR

(D) 31T & & ERE AR ¥ IR [P &I
HEH R I :

Which of the following should you do, if you are

unable to evacuate a burning building?

(A) Open the door and windows to let the smoke
out

£

- {B) Break windows ’ e

(C) Breathe through your mouth
(D) Stay low under the smoke

A I TH T §E ARG B Wil bR A

argmef € o sty e § | g e anee?

(A) g¢ @ Ty Fwes & fog @wEn S8R
Rasfar @eer Tty

(B) Regfeai e+ =nfev

(C) 3™ Hg & Wi o AfRy

(D) ¢ & < vET AT

107 - &
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76. What is the function of regulator valve in BA set?
(A) Increases pressure from low to high'
(B) Decreases pressure from high to low
(C) Maintains same pressure
(D) All of these
U Ae ¥ o Welex dicd FT a7 S BT 87
(A) "R BT B B HIAT
(B) TR @I AfH & FH HRAT
(€) yer &7 |9 Refy & @
(D) SRIET T _
77." Jockey pump is also known as -
(A) a temperature maintenance pump
(B) a current maintenance pump
(C) a water maintenance pump
(D) a pressure maintenance pump

SICR G B A9 QA ST S 2
(&) FrveR Aot

(B) wee A .

(©) dfex g B

(D) TvR {=A=g Uy

78. High rise building means -

(A) A building 15m or above in helght
(irrespective of its occupancy)

(B) A building 15m or above in height
(respective of its occupancy)

(C) A building 25m or above in height
(irrespective of its occupancy)

(D) A building 25m or above in height
(respective of its occupancy)

TS VIS §ARA &I AdAY & —

(A) 15 Aiex 71 IEY IF HAE BT TARA
(g9 ST @ wRare fhy faem)

(B) 15 ¥R a1 Y 1f¥F Ha B TR
(59 ARWRT & IER)

(©) zsﬁammmmaﬁm
(g ARHFT B wRarg fy 39

(D) 25%?17%@{3@%5@%@‘&%%
(5T M & IUER)

~ 79. Tnlets, landing valves, drain valves, door hinges

and locking arrangements to the inlet and landing
valve boxes should be inspected -

{A) every six months  (B) every three months
(C) every year (D) every week

gele, difeT dfea, $91 dfca, exar 3 Feet 3R
gee iR S dfea a1 dfe dnﬁﬁarcﬂ%n

&1 Frdieror fyar oreT TlRe —
(A) 75 © W= A (B)q*ﬂzﬁaﬁ:rﬂéﬁif
(€) yJ% ¥ ¥ (D) 7% |aE ¥

80. The hose reel should be directly taken from the

wet-riser pipe by means of a .................. mm
socket and pipe to which the hose reel is to be
attached. Z

(A) 40 (B) 38

(C) 33 (D) 37

B At BT A JT—IGOR URT 9 .o o,
diee 3R Uy & 9rgy 9§ o @A w@ifge

a9 8 A B N7 AT 2
(A) 40 (B) 38
(C) 33 (D) 37

81. Three-man carry is also known as -
(A) Fire fighter’s lift ~ (B) Human stretcher
(C) Fore and aft (D) 4 handed stretcher

Ai— B BT &R f5g 9 F 7 oI 87
(A) BRR wTEeR foge  (B) g &R
(C) BR 3R ave (D) 4 §$T W
82.  First thing to do, if a person has been injured by an
electric shock and does not have a pulse -
(A) Lower the head and raise the legs
(B) Give CPR
(C) Check for other injuries
(D) Wait for ambulance to arrive

IR BIY ARP Al & sIcd ¥ g=e 8 AT
g ok Sue! yow € §, Y uEel A W —
(&) RR T R 3R ) &7 FWR Saw
(B) NRIR. T

(©) 3= Tl o W BN

(D) TSR B o B wheT

83. The BC class dry chemical powder is available

with - ,

(A) Potassium Chloride based
(B) Potassium Bicarbonate based
(C) Both(A) and (B)

(D) None of the above

@r%ﬁmw?mmﬁmwm%—
(A) UrReRrm FoRgs mERa

(B) UreRrM grgdEe amenRa

(€) SFf (A)TE (B)

(D) ST # | B e

107- &
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84. The minimum temperature at which a liquid gives
off sufficient vapours to form a mixture to sustain
fire when an external source of ignition is brought
to it, it is called -

(A) spontaneous ignition (B) flash point
{€) lower flammable (D) fire point
limit )

[AAH qOEE R W UF AR IAT 9 qaw
BT gTaT 8, AT B g9 vEH & o, oW
‘MW@%W@WWW%W
FHEATAT B

(A) a5 (B) weiyr Ufge
(C) farelt Sgerefir (D) BIRR Uise
AT

85. Which of the following NFPA code deals with
Hazardous Material Code?
(A) NFPA 400 (B) NFPA 200
(C) NFPA 150 (D) NFPA 101

frafafe § 9§ o9 0 EIBaL o Wﬁgﬂ?
Il Bl ¥ ddfta 87
(A) TTH AT 400  (B) UA.UBULY. 200
(C) TATH . 150 (D) THUBALY. 101
86. The amount of water required to control or
extinguish a fire is called as - '
(A) Design density
(B) Required design density .
(C) Minimum design density
(D) Maximum design density

T B FREIBE N W @ B fon smaws
S B WA BEANN © —
() & a= g
(B) auferd fesimss e
(C) 7w fewrgs ua
(D) arfereser f¥siTg T

87. What is the first phase of fire suppression?
(A) Fire identification  (B) Initial attack
(€) Good management (D) Communication

A T Y YUY IaRT FT BT 87
(A) 3T & TEEH (B) yRM% amspHoT
©) SugE wded (D) HUS

88.

- (C) Outermost

W%ﬁa%a’?zéﬁméawzﬁﬁmﬁﬁﬁm

Which of the following is not the attribute of a
good fuel?

(A) Low calorific value

(B) Cheap and easily available

(C) Moderate rate of combustion

(D) Safe to handle

frfoRaa # & B U o/ S99 @ 0T &l
27

(A) =1 $&g 79

(B) T SR AT ¥ SUAL

(C) T89 & 799 R

(D) wanT B¥ ¥ gRiew

- In which zone of a candle flame no combustion

takes place? ,
(A) Tnnermost (B} Middle

(D) All the three zones

7
(A) arcRes (B) w=m
(€) s (D) &1 el A
- Forest fires are a result of which type of
combustion?
(A) Rapid (B) Explosion

(C) Spontaneous (D) Slow

ST B AT 5 UeR @ €89 o7 gRuiH 87
(A) ga = (B) fawpic g9
(C) wavafda gea (D) ¥g T8

- The fire assembly point can be best described as -

(A) Where the fire extinguishers are stored

(B) An area that has a high risk for fires to occur

(€) An area where you are required to assemble in
the event of a fire

(D) An area you are required to avoid in the event
of a fire

S HHT B —

(A) STEl SIfee. T3 Y9 W €

(B)wmﬁaﬁﬂﬁmwﬁwwm
BT §

(Qw@waﬁawmwﬁaﬁﬁuﬁﬁm
gl BIFT TP &

(D) Usp VT B el Y AT o @ Rerfy
gl BIF 9 T ©

107 - @
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92. Which type of fire extinguisher do you use to fight 95.
an electrical fire if a carbon dioxide cxtmguxsher is

unavailable?
(A) Water (B) Wet chemical
(C) Foam (D) Dry powder

H%W@ré@mmwwmﬁ&
& o e o § e @ g o frw Ry
& TS BT JTIIT HEI? (

L (B) et vrara=
O (D) §1g weeY
93: Fuse is always made up of alloys and metals
‘having - o

(A) High resistance and high melting points
(B) High resistance and low melting points
(C) Low resistance and low melting points

(D) Low resistance and high melting points

R EYET S M o) aTdel & e T
g fored grar & —

(M) Iz giory @ik S= TeHi®
(B) woar wfRy o et TTeriies
(€) =1 uftRy oik 1 e
D) fr=1 uftRer iR 959 Terri® o

94. To treat a first degree burn you should -

(A) Apply a good quality burn cream or ointment
(B) Clean the area thoroughly with hot soapy
water

Where should you aim a fire extinguisher nozzle
when putting out a fire?

(A) At the top of the fire

(B} At the base of the fire

(C) At the center of the fire

(D) Away from the fire

3R @A AMEY?

C{(A) 3T B WY W

(B) 3T & ol W L3

©) 37T B Fm W

D) s T ¥

A hot permit allows you to -

(A) Carry out work that can potentially cause a

fire.

(B) To work on a worksite containing extreme
temperature.

(C) Gives you the authority to start a fire on the
- worksite.

(D) Allows you to practice fire drills on the
worksite.

o g R ST R 2 & —

(A)@Wwﬁ‘éﬁrMwsmowﬂﬁw;qdi
B

B)WWWWWWW
Al

(C) 3T FRRUA W AT DI URY P &I
PR a7 B

(D) SuehT SRS U AT I 99 B YR BT
3T HRA B SFANCT <l B

and the heaxt
(B) Apply cool running water until there is httle ort1 97+ Acceptable temperature range in industrial work
) 5
no remaining pain P~ aeas-
S " (A) 5 to 10 degree centigrade
& 50 = 51 3T S D %Kf ST TE . | (B) 0 to 11 degree centigrade
- T TR (C) 3 to 12 degree centigrade
~ (A) 3T TJuTaRT arell 9 @ AT Helgw @Y (D) 13 to 30 degree centigrade
(B) T AT B U W O SR BT e oRe - o
ITE B enfire et &5 # Wert aEe W § —
(€) SIeM & TIF o} gag & g Be arell U (A) 59 10 =) G
T (B) 0% 11 f&ft WS
(D) ST 9 UM 79 §F Y o4 TP B T (C) 39 12l ¥
FF I E I A& WY (D) 133 30 R Wehrs
107 - ‘@' Page 13 of 16



98. The three elements of the fire triangle are -
(A) Water, a heat source and fuel
(B) Oxygen, water and fuel
(C) Oxygen, fuel and a heat source
(D) Fuel, oxygen and earth

it BT & fF a@ € -

(A) U, U ST WG SR gEA

(B) Sifefior, Ul ok ge

(C) sifefior, $oF IR T S |

(D) Fem, Sifeiior sk gt

99. What should you do when your clothes catch fire?

(A) Stay where you are, drop to the floor, roll
slowly against the floor and cool off with
water after the fire is out.

(B) Grab a fire extinguisher and spray it all over
yourself.

(C) Shout for help.

(D) Run as fast as possible in the hope that the
wind will put it out. -

Tq ATTS HUST § T T WIT o AR RT

BT ARY?

@) wwl g 9 W v W R v W
SRR e AR A B a9 T W
3T |

- (B) T e I3 of 3R S 0T TR |
Ciad

(€) #eg & fory feemd)

(D) 5 o & wB IS 39 IR A F w@r
T G M

100. How far away should you stand when you are
using a fire extinguisher to put out a fire?

(A) 4feet (B) 6feet

(C) 8 feet (D) 10 feet

g AU AT I B Q0 ES IF @
JET TR 3T B, A1 IMUD! fha g W @S
BT =1RY?
(A) 451
(€) 8w

(B) 6w
(D) 10

101.

102.

103.

104.

(C) Dry pipe

Which special hazard fire protection system has
been outdated since 1993-19947

(A) Halon 1301 (B) Dry Mist-

(C) Clean Agent (D) Inert Gas

1993-1994 | BI &1 =iy WeR arell S+ gRam
U T g7 R A T 87

(A) 2 1301 (B) g5 gy

(€) T Tl (D) afsha RIES|

You can save about ..o % on
commercial property insurance by installing a fire
alarm system that reports to authorities.

(A) 5-10 (B) 10-15

(€) 15-20 D) 264

ey & wftg o aftifae wWoky 9

TTHT o yfererd g 997 9ad © |
(A) 5-10 ®) 10-15
(C) 15-20 (D) 264

Which is not a type of fire sprinkler system?
{(B) Even-distribution
(D) Deluge

(A) Pre-action

PRI TF TBR BT BRR [iwer Rived 7dt 27
(A) g (B) Sa—RReegzr

(€) 1§ sy O s

Which type of material is used in heating system?
(A) Cotton material

(B) Incombustible material

(C) Polyester material

(B) Combustible material

AT faew § 59 yoprR & 9l B SYAnT
foram < 2? :

) L
(B) arcaereer et |

(C) uiforgeer |mElY

(D) Saareflier et

107 - @
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105. What should be the travel distance of exits on any 108. The RACE acronym simply stands for -
floor of business building? (A) Rescue, Alarm, Contain, Exit
(A) 45 meter (B) 40 meter (B) Rescue, Alarm, Contain, Extinguish
(C) 25 meter (D} 30 meter (C) Rescue, Alert, Cover, Extinguish
, (D) Rescue, Alarm, Cover, Exit
RS 99T & Sl ff T R e e :
& A g frae B T IRUAE. o g wU R ~
®) 45 ez (B) 40 R (A) X, 3T, Hod, Tfire
(€) 25 #rex (B) 30 Hrex (B) X, orerm, B, vt
106. Which of the following NFPA code deals with © L 9 : PR, TR R
standard for portable fire extinguisher? (D) X%, ofefm, PR, T
(A) NEPA 4 (B) NFPA 5 110. Which of the following is a type of fixed fire
(C) NFPA 10 (D) NFPA 11 fighting? o
(A) Rope ladder (B) Knapsack tank
frafolea 3§ 9 @9 9 WU HU B gegd (C) Salvage sheet (D) Sprinkler head
sifeae & forg ar9e ¥ wdfe 8°
« ) = 3§ 9 3 e BRR SRR #1 yeR 87
(A) TavmdIT 4 (B) THumdig. 5 i
(€) ruwdiT. 10 (D) v diT 11 (8) R s © °r
T T (C) et efe (D) RyweR &3
107. What is the full form of PEEP? 111 . s
] ) * Hoses and accessories should be kept in hose
(A) Personal Equipment Engagement Practices ' - -
(B) ] ‘ . _ cabinet painted.................
Personal E‘qmpment aqdh Eye Protection (A) Fire green (B) Fire yellow
(C) Personal Emergency Exit Plan (€) Fire red (D) Fire blue -
(D) Personal Emergency Evacuation Plan
BT R WEEE SuBl B BN dfeve ¥ v
WM. (PEEP) &7 o wu a7 &7 ST AT, RIS FT BT
(A) T Taguie dire HfdeRr (A) TR N (B) WIR I
(B) odTd THRTHE T oM W, (€) BRR YT (D) BTIR &
(€) g+l gROIR! Ul @M . 112. To avoid pilferage, components like landing valve,
(D) y¥Fe RO SARYIE A hose coupling, branch pipes, lugs, etc. made
108. Which of the following installation is used to spray of.......,..........:....are recommended depending on
- water over a surface to provide protection of fire? weather condition.
(A) Drencher (B) Hydrant (A) Iron (B) Stainless steel
. , (C) Aluminium alloy (D) Nickel
(C) Riser (D) Sprinkler
3T ¥ GREAT YT FRA B Y T W gl B 2?@%; @iﬂaﬁmz
s ) 3 o e 4 4 fvg @ | BIS BT, §79 TSy, o, et
R S g9 U, @ RwiRey A o Rafi & oreR
&7 YR oy Sirar 27 S
A) g3 (B) TS ‘ -
EC) m@m | (Di Ryfpere il o
- (©) vgfafrag fis arg (D) Foa
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